Name:                       
I have a TextureRenderable 
· At position: (30, 70)
· Size: 100x80
 On this Renderable is this texture
 [image: C:\Users\ksungAD\Dropbox\2.Classes\490\Books\EngineSourceCode\Chapter5\5.1.TextureShaders\public_html\assets\minion_collector.png]
[bookmark: _GoBack]You are told that: The texture is 200x160 pixels
Now, what are the World Coordinate (WC) positions on the TextureRenderable for the following UV positions?
A. UV position (0,0)? Hint: This is the same as asking what it the WC position of the lower-left corner of the TextureRenderable (why?)?
UV=(0,0) is mapped onto the lower-left corner of the TextureRenderable
· WC position is:
· X = 30 - 100/2 = 30 - 50 = -20
· Y = 70 - 80/2 = 70 - 40 = 30

B. UV position (0.5, 0.5)? Hint: This is the same as asking what it the WC position of the center of the TextureRenderable (why?)?
UV=(0.5,0.5) is mapped onto the center of the TextureRenderable
· WC position is:
· X = 30 
· Y = 70 

Now, in general, this is what we are doing:

Let center location of renderable =( 
Width and height of renderable =.

Lower-left corner of renderable 


(u, v) position for any position in the TextureRenderable would have a WC (x,y) of (notice the coolness of Normalized Coordinate range): 



C. UV position (0.6, 0.8)?



D. What is the general formula that translate from UV to WC position for the TextureRenderable?
E. What is the general formula that translate from WC to UV position for the TextureRenderable?
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